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CCNA 640-802-Update(Apr-2009) New Questions

1. What are three characteristics of the OSPF routing protocol ? (Choose three.) A. It converges quickly. B. OSPF isaclassful
routing protocol. C. It uses cost to determine the best route. D. It uses the DUAL algorithm to determine the best route. E. OSPF
routers send the compl ete routing table to al directly attached routers. F. OSPF routers discover neighbors before exchanging
routing information. Answer: ACF 2. Asaframeleavesalayer 3 device, the Layer 2 encapsulation information is changed from
what it was when it entered the device. For what two reasons can this happen? (Choose two.) A. The datais moving from
10BASE-TX to 100BASE-TX. B. The WAN encapsulation type has changed. C. The dataformat has changed from analog to
digital. D. The source and destination hosts are in the same subnet. E. The source and destination MAC addresses have changed.
Answer: BE 3. Which characteristics are representative of alink-state routing protocol ? (Choose three.) A. provides common view
of entiretopology B. exchanges routing tables with neighbors C. calculates shortest path D. utilizes event-triggered updates E.
utilizes frequent periodic updates Answer: ACD 4. What are three valid reasons to assign portsto VLANSs on a switch? (Choose
three.) A.to make VTP easier toimplement B. to isolate broadcast traffic C. to increase the size of the collision domain D. to
allow more devices to connect to the network E. to logically group hosts according to function F. to increase network security
Answer: BEF 5. The network administrator has discovered that the power supply has failed on a switch in the company LAN and
that the switch has stopped functioning. It has been replaced with a Cisco Catalyst 2950 series switch. What must be done to ensure
that this new switch becomes the root bridge on the network? A. Lower the bridge priority number. B. Change the MAC address of
the switch. C. Increase the VTP revision number for the domain. D. Lower the root path cost on the switch ports. E. Assign the
switch an IP address with the lowest value. Answer: A 6. What should be done prior to backing up an IOS imageto a TFTP server?
(Choose three)) A. Make sure that the server can be reached across the network. B. Check that authentication for TFTP access to
the server isset. C. Assure that the network server has adequate space for the IOSimage. D. Verify file naming and path
requirements. E. Make sure that the server can store binary files. F. Adjust the TCP window size to speed up the transfer. Answer:
ACD 7. What are two advantages of Layer 2 Ethernet switches over hubs? (Choose two.) A. decreasing the number of collision
domains B. filtering frames based on MAC addresses C. allowing simultaneous frame transmissions D. increasing the size of
broadcast domains E. increasing the maximum length of UTP cabling between devices Answer: B 8. Refer to the exhibit. Why has

this switch not been elected the root bridge for VLANL?L .. s chow e P"lj (J O = J » J o N ~t
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Spanning tree eneb{eﬂf: o oci!l 3 ot UDIDIC.TICL
Root ID Prioritvy 20481
hAddress 0008, 2174, 5800
Cost 38
Port 1 (FastEthernet0s1)
Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec

Bridge ID Priority 32769 (priority 32768 sys-id-ext 1)
hddress 0008, 205e. 6600
Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Aging Time 300

Incerface Role Sts Cost Prio.Nbr Type
Fad/1 Root FWD 1§ 1z28.1 P2p
Fa0/4 Desy FUD 38 1z28.1 P2p
Fa0/11 Altn BLK 57 128.1 P2p
Fal/13 Desg FWD 38 128.1 PZp

A. It has more than one interface that is connected to the root network segment. B. It isrunning RSTP while the elected root bridge
isrunning 802.1d spanning tree. C. It has a higher MAC address than the elected root bridge. D. It has a higher bridge ID than the
elected root bridge. Answer: D That isall, hopeto helpful for you. Best Luck for ur CCNA 640-802 Exam. If you need the
complete passdsure test questions for 640-802 Exam, you can visit Latest PassAsure 640-802.(Pass4sure 640-802 Questions with
explaintion) maye it helpful for ur exam.
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